797. Luptp.

( :

P (-3 (-5) = +(1-9) =
D(+5) (+5)=+E S =+
W (+113)- (+5) = (+5) - (#5) =+ 35 = +253
0() (=09 =+
D(-745) (D) =5) () =+ =75
798. Lwpytp.
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799. Lwpytip.

w) (+309)- (+25) = (+5)- (+3) = (+3) - 28 =+ 52 = 4757

)

(5= (-2 (-2) =+ = 102

D(-655) (-25) = (50) (-5 =+ =455

(=33 ()= (-3) (+) =T =185

D (+95)-(-833) = (+3)- (-35) = -5 = 84t

800. Cudtidwndwu fusy wywu whwp L nul] wunnwuhsh thnjuwpby,
npytiugh unwugywd hwdtiiwwnniudp 6hpwn 1huh.

m)(—3%)-[+2%)*0, q)(-%]-(-%)*o, h)(+7%)-(+3%}«0:
s s (e a3
w) (=33) - (+23) <0

B (+3)- (~e5) <0




